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1. C. volume 

2. A. cell wall 

3. D. I, II and III 

4. C. mixed cropping 

5. B. Grass 

6. D. duodenum 

7. A. Ag 

8. C. condensation 

9. C. Bee stings 

10. A. cell 

11. C. proteins 

12. A. zygote 

13. C. a base 

14. A. an acid 

15. A. remain the same 

16. D. clay 

17. A. skin 

18. A. watering 

19. B. Millipede 

20. D. biological control method 

21. A. 180.0 g 

22. A. centripetal force 

23. B. virus 

24. C. a barometer 

25. D. nitrogen (IV) oxide 

26. A. Bottle top opener 



27. C. 308 cm3 

28. A. I and II only 

29. D. I, II, III and IV 

30. D. creates things that are dangerous to the environment 

31. B. Iron 

32. B. travel in a straight line 

33. A. blue 

34. A. 7.0 g cm–3 

35. C. I, II and III only 

36. B. texture 

37. D. H2 + Cl2 → 2HCl 

38. B. conduction 

39. C. larva 

40. D. clot the blood 

 


